YR30 EERE2ZFHITS FPER (ERER)
85 )= 08 = 28

SRR 17 £ 8 [’ 13 £ =HR" 17 £ 8|’ 17 S B [’ 13 -
1| K [=8829 228 T 1 | £ |1ABR 118 1 [ K 1 | T |ames AEmscH)
2 | K 2 | B |#rER3Rs 2 | N |PEEE 2 | & |EBROZET 2 (126F) 2 | B8 798
3 | & |isEmPRAHEDHEID 3 | B [#E=Kik(8/25AM-9/1PM) 3 | K 3 | £ |1EDB  #wmemam 38
4 |t 4 | W 4 [ K 4 | B |=se2x 27k 4 | N
518 5 | K b | & |vw 5 | B glise=B8 5 | K By TR
6|8 6 | K |BUSRHRBR EREF) 6 | I |=EausEnRaEs w#Ig] 6 | N 6 | K
TN T | & @ rH DT 3F) 7 | B |=smemx T K T || |NIVIKE
8 | K 8 | & @1 —TV2I- 8 | B XS {O)=) 8 | K |mEmsEmE (1-25) FFAT 8 [
9~ 9 |8 9 | N 9 | & 9 |8
10 F v 10| B vzl 10 | 7K |UPQE) 10 | = |®ez—7vz20-1 sEszraesE 10 | B
1| £ |z WDB | 2ses | 11| X 1| K svzg| 11 | B |HEF 2@ (35F) 1| W |1BAZESE GeEE)
1218 12 | K [BuEEER (FR) 2| % 128 12 |k
138 GEBEg= | 13 [ K 13 | * [®L@F—T>29-L 13| W 13 | K
14w TR 14| B N 14 | K evzel 14 | &
16 | 2K 15 | I |AEHE (-25) B | A 1B | 1% | HIEREERESS
16 [ & 16 | B 16 | N 6 |& 16 | 8 76
e E= 17 (B LIEED]= 17 | K |[prEvRasT) 17 | + |[erizEE2 0F) 17 | B |[IRER
18| v 18 | W 18 | K 18 | B 18 | N |mEaes £ 52N
198 19 | K 19| % 19 | B 19 | 2K
20 | B |=Hmss 20 | R 20 | * |=me 5 20 | X 20 | &
21| W EEmRER 21 | & |®@FrhyP— 211 8 21 | K 21 | &
22| K| 22 | &£ 22 | B 22 | K|®4@F 1P — 22 | &
23| K |16EN HERRS 23 | B8 momn8 oo 23 | W [pEDERONA) 23 | & #EREFNE 23 | B REFKES
24| & 24 | B b= N= 24 | 2k 24 | £ 24 | B REARB
26| £ |BW 26 | W 26 | K 25 | B 25 | W
26| B P2 26 | Kk 26 | & |®E@FTRVP— 26 | B [BBRZ A 26 | K| ¢
27| B 27 | K 27 | = 27T | WK 27 | K |=uptke
28| N 28 | & 28 | B 28 | K 28 | &
29| K |KABREFIT 29 | = 29| B 29| K| vy g=gxs8s 14:00] 29 | +
30| K Y 30 | B 30 | W 30 | & 30 | B
31| & |KERER _ 31 | K _ 31| B| y /55T

22 WMAENF 2 (1-26F) 1616 A 288V-7i851 (35) 12413 Rzt GE) 2:3  RR@BY—IEH (3F) 1 GTEC(1-25F)
1B | 23 ssonmevr-mEs @) 75— HESPEA 3F) 20 WROED ) —IEH () SHDHRES 1 XIPBIRREE R (IF)
5 B EEEE NV ABSERE 17 S WIWN L 2~ 8 ERREERES R GF)
e PR FomEeR SNV ABIERE N AR




